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QUESTION 1

When selecting an asset on a work order, which two fields are populated to the work order?
A. Vendor

B. Location

C. Safety Plan

D. GL Account

E. Classification

Correct Answer: BE

QUESTION 2

Which invoice type is generated after the item is consumed?
A. Stock

B. Inventory

C. Nonstock

D. Consignment

Correct Answer: A

QUESTION 3

The client is using the last completed work order date to trigger a PM generated work order. What type of schedule are
they using?

A. Fixed schedule

B. Floating schedule

C. Lead time schedule

D. Time-meter based schedule

Correct Answer: B

QUESTION 4

What is the purpose of a ticket template?
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A. To save the details of a record

B. To route a service request through a standard business process

C. To efficiently populate common, high-volume service request fields
D. To automatically apply Service Level Agreements to service requests

Correct Answer: B

QUESTION 5

Which statement describes a work package?

A. It is an activity with one or more child work orders or tasks.

B. It is a collection of work orders that are placed under a new parent.

C. Itis a work order with more than one task to organize the order of work.
D. It is a package of work orders that is placed under an existing work order.

Correct Answer: D
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